] 1.2 '10,2 trees 1 ha= (4001-4)2 PN @

~ 03440 ha Thy, = 10
S 2054t | S, = 4T K
KQ:; 63?'{ ,L‘»\
f{"\c:) W= ——— "1
2 | . § (e
5= Se23%=4wRe 23 = 4y (63H km) 29 = yu . 633 29 kol
100 100 700
pr300 nle
2 -
5,= 03 40°ha = 0.9-10° ha (ﬂoo n)z) 'UZ».) 20.3:40° 0'Z- 0.9 :IDMkiz
1 h< 10’ m 10°
.?.
S22 0310 ks = D.06= 67 1pn'a fKDD
S qr. 63‘7\12 _22 [
100
1.2
1 tree= Ttvee ( 0.3 10° & ((f{aoi)z =0.9 {09"(0" 11,2:_—(_):_3 A0 W= F.55,2
1,240 teee || 1 1.2 19" 1.2
13

YR
13 dvnqﬁ 13 c{umm 4&1.,2 ) QZ)( 1 lnﬁ 205’405_&..'(;( 103,&3 =
(w%m { bew |\ (100w) )\ 0346 he /1 2owe

= 18-40° 20540 40° = 18 205 - 1p° by = 41010k, ¢
102 109, 0.3-10° 0.3




? m= 3.0 }4?_ (2 ’
% L= S'O"
ogs.E_O;- Al M {Z /Us=0.Z§-
Lo / /4K-.=o.20
a2
74
2.4
+
\ P TV
L alnS P Ggv > r)o’a[Tﬂ
5 P 1 |
4 Fszfs"
AW W=-wg
g’ _ szFw”( [i:"”&
t , %':P/lwlo( P:P%j‘_(,%j\
o
T “
y
P © 2 7)\[“1\/
- ':)gb’Ng ""T‘fm/ Ggn > DO@(TQ
'i % _x
7 Esz_st\
W W=-Ww3
szPw?’( @::*N:
%’f’m&o( P=P,.,f+%j‘



E=/‘45N 20 ko 7)7 N7 q’o {K‘ 71091/“7) 2 Z

BRI §5 DY IIOIL) e Hen PIDA O NN

>F=o o
P+RtW+N =0 A0 g ﬁ,"fm/ Giv > " nosipn
P19+F‘:}3+st-w3—m =0
P% -]\]:@ . D3
Pa 4(-&—\”:0 ;? o2
Pw:or —‘-‘l\l
P, .<+/4$N=N

Prin ot +/15'Pwyo<='w?_

P(A&a(+ 5(,0;0(5’-‘— wm

P=14-3‘— _ 213N
A R+ s (0o X
>F-o L2
P+R+W+N =0 Y EAR) ﬁ,*fm/ Ggw 5 noalpn
mejj—&j-wj- =0

Pe-N=0 cx D3

Rd -R-W=0 > >'3

Peso o« =N

P/»&K—/ASN=N

?/M:\D( —/445?0070&=W

?(/h;o&—/qsw:ﬂ:w?_ ————>]7P= _’l}—_ — 4%.6 1

N o '745@’(

r31.?M< P < 496N Y /\)?D’V

=}




Lo ol Gavo moorg m}Wg pas  AVOHID 2.3

’ 6
- MhJ @p Pl 'Y {ar
it % PEP T
j | i N= -nz
l* o ey
W Er-‘—l:k-j

P=Puielyf ) BemPumel 5 PoPac
5=’0J cab 98s 3w nbal/’m

= F=ma =)|(»IU ke Ut s
AP« Nt W= ma

f] +Ple B3 -N2-Wj = - Juaf =

B-N =0 — N=Px=z=f_ o1 tx D3

Fie 4R ~W = -t g

FK=/’4KN ‘> >SS

7/4|< N—\-P;J"’M = -Ma. < m—_

Nz Pud7

e Piorw « Parzst -wg = —mer

|- 32|

2y

;\’,\‘GNJT,’J i‘mﬁ
T’ =0 '\);:-.: Vit 2o AT oS L)
A0n 'a&: Ef‘:(—:{; 4 ‘-—‘\j‘ ’\Yfz’ 2(‘“3)‘(""3) = 2ah
0 1}'{=\‘Zala =v;al\'éﬂ;(/‘,<w~w)—’
7 m

W0 o B-aj l V=578 wls




v, v, @

—_— —
(4]
e 9 3 "
J‘NE U % 1}'; = “U" 2
Q= AV 0,V - v, 007 o (1,-9)2 ‘722”)25_
At At At At [v.| < (V]
( Wewtg a1 ‘.\3((:.))7))
and el
vz I Vs I 32
—— | e |
00 0 & 0o 90 0 O o > %
)g, }\g(‘-l\/e, N60)J MO — 133 -0 2
MENG nJIe AN —ncﬂ Ty = Uz L
.._,\-(l“e WD (vll < l’v'Z,
a: &;j = 7373'{;' = -Vz;'("uf) = ('U'.,-?fz ):(‘
AN 1 At At
r,\ﬁtu\/?, AJ'D N 3leD wlﬂyﬂ—
]
C— G'.
e e o o o o e o o @ o o o . - 33
- -" \/N\J ] ———
’U"'él P Ax — PN e A
At P‘JG““ Ao {91e
o Nyowva, §3¢ §13¢) gop V
\6‘\\ ‘6‘3? —D3l(c..i7 53”\—]‘ (t‘c_
A3 “b !
v T 0&1




